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PAPER 1 SELECTION

Water that forms lather readily with soap 
is said to be: soft.

Feeding and respiration are common to 
both plants and animals.

A suitable instrument that could be used 
to measure the internal diameter of a 
bamboo flute is vernier calipers.

The ability of soils to supply the right 
amounts of essential nutrients to plants is
known as soil fertility.

The simplest way of making well water 
suitable for laundry purposes is by 
boiling.

Washing down of soil nutrients beyond 
the reach of roots of plants is referred to 
as leaching.

Why would an object float in water? 
Answer: If it is less dense than water.

An example of leafy vegetable crops is 
lettuce.

The structure in the respiratory system of 
humans where gaseous exchange occurs
is alveolus.

The gas produced when glucose is 
oxidized during internal respiration is 
carbon four oxide.

The farm animal which has crop as part 
of its digestive system is the fowl.

A beneficial effect of wind on the 
environment is pollination in flowering 
plants.
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The chemical solution that can be used to
test for the presence of protein in food 
substances Million’s reagent. 

Some of the effects of bush fires are air 
pollution, depletion of vegetation cover 
and global warming.

The most effective method of controlling 
soil erosion on steep slopes is terracing.

Meteorological Services Department is 
responsible for providing information on 
the weather and climatic conditions of an 
area.
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